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OZ  AOIlL @EOFRE !

#3(6), HotHE Y

O I AT HA|(ALD) @TIYIALY : ASE RATRI(AIY]) OMRAY : 4EEAM 2 22| @2 : Yoy (&l : 42
- 7| A
T2, 20T, ALY, CHA ALY MR ALY, = M= off 4+ o off Ab of 4
g A 17,324,577 | 16,404,577 920,000
ANprezza A35,200
AL 2 955,200
Aol At 5,446,258 4,726,258 720,000
NZpeEzz ~7,200
AL A 727,200
23 (6)/ 45t A 3,348,010 2,620,810 727,200
AL 2 727,200
el (AHY) 3,348,010 2,620,810 727,200
AL A 727,200
g 722 (A) 3,348,010 2,620,810 727,200
AL 2 727,200
drAld 29 He 1,443,980 1,416,780 27,200
ZF{| 20 27,200
201 YeH2IH| 461,070 441,070 20,000
ZFA| A 20,000
02 SSE2H| 173,900 153,900 20,000
oRIFe) et REHF Eaa
20,000,0009Ix14l= 20,000
ALA|2 2 20,000
307 2IZtolA 198,000 190,800 7,200
AFH| 21 7,200
13 RIZHAESZ|H]| 198,000 190,800 7,200
ods A3 U
ZA(1,50094% 11,000 x12€)-7|1Z(1,5002x10,600%x 128)= 7,200
At A& 7,200
dee esET 922,000 572,000 350,000
22|20 350,000
214 SMFA| LA 922,000 572,000 350,000
AL 2 350,000
05 +MFAH| 922,000 572,000 350,000
oYUz USEFAY
Z2(850,000,00094x141)-7|Z (500,000,000 x 1 4l)= 350,000
ALA|2 -2 350,000
ASEAE 224 (AHY) 982,030 632,030 350,000
AL AH 2 350,000
231 AlHZAH| 650,000 300,000 350,000
AL A 350,000
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o= !
O YA I HT B2 (AlE) OTHRIALY 1 = RAI2(AY) OMTAIY  HFEAlE RAES(AIY)

Aol @ZOFRE : B (6), dotr-2

. rul
o= tds

AtH]

@
40
i
s

P2 OIS HAUNY, BRI HRAIRY B S of oy | oo | B2
00 AldSAHH| 650,000 300,000 350,000
OgrSAL QIZHH ALY
Z(500,00094x1,300%1)-7| (500,000 x600)= 350,000
At A4 2 350,000
YotSSAHY(4)/Lery 2,098,248 2,105,448 ~7,200
NgreEza ~7,200
WE2EaH 2,098,248 2,105,448 ~7,200
Ngrezrza ~7,200
A2 EH| 2,082,428 2,089,628 ~7,200
NZreEzra A7,200
0|22 | 2,082,428 | 2,089,628 ~7,200
N2pezz A7,200
101 QIAH| 2,050,508 2,060,828 ~10,320
AZpEz2 210,320
02 7|ERRIES 972,902 983,222 210,320
oY JAFH £10,320
oes
Z7(3,653,8469x1391x129)-7|2(3,720,00084x130Ix128)= 210,320
N2reEza 210,320
204 2|24 31,920 28,800 3,120
N2rezrz 3,120
02 ZZEZRH| 31,920 28,800 3,120
ORZH ZH| 3,120
o6x
Z2(160,0009x691x129)-7| (165,000 2x501x12%)= 1,620
N2 TrERS 1,620
o7g
ZA(145,00094x391x128)-7| H(155,0009x201x12%)= 1,500
it = 1,500
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O I AZ0L @ZORE 2

), Mot 4

A 1 Y4 T2 (RLE) oc_ré|xr°+.g+¢5%1|z_+a|<zrg> HIRAIY  AATAIM QABAIE) @S : A|AH|LLCHY| (&%l d#)
7 4 =
T2, 20RE, FHAY, HAAIY MR AY, = M= off &+ o4 of A oY s
A2 0] ot 11,878,319 11,678,319 200,000
ANprezza £28,000
A A< 228,000
=t (6)/ 5t 11,878,287 | 11,678,287 200,000
NZpeEzz £28,000
22|21 228,000
A 22| (RHE) 11,878,287 | 11,678,287 200,000
Ngrezrza £28,000
2|20 228,000
MAE 22|22 (RHR) 9,578,287 9,378,287 200,000
ANzrezza £28,000
AL A< 228,000
AT AL Q2|24 (RHR) 2,234,287 2,034,287 200,000
2|21 200,000
401 AlgH[LSCOHE| 2,194,287 1,994,287 200,000
A 2H 200,000
01 AldH| 2,194,287 1,994,287 200,000
O=E595M (HYH) 22 0|4 ZAt
50,000,0009x1 A= 50,000
A2 50,000
OEol2| B2 SH M e SAL
70,000,0009/x1 4= 70,000
AR A 70,000
O8IIAUY 7IYAE SHSAt
80,000,0009/x14l= 80,000
At A& 80,000
APl S 1O 20| 2| ALY 100,000 100,000 0
NZreEza 28,000
22|21 28,000
401 AlEB[LRCHY| 30,000 100,000 ~70,000
2nEzrz 215,120
NZreEzza 28,000
24221 £26,880
01 AlAH| 30,000 100,000 70,000
O ES 7Y R ALY
Z7(30,000,0009x141)-7|%(72,000,0002x14]) 42,000
2NEZR3 215,120
ALA|2 -2 A26,880
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O I A20A @FOFRE 1 2 (6), Mot
ALY I YA EBR|(RHD) OTIPAIY : A4E SALARD) OMHBAY  AFURST F0IZANY @ AlMHILRCHH|
. 7 4 =
T2, 20RE, FHAY, HAAIY MR AY, = M= off &+ o4 of A oY s
OdrdES 7Y R AAY
A (09x141)-7| 4 (22 (100,000,0008x141)-7|12(72,000,0009x1 A1) £28,000
NZTEZRS ~28,000
405 Z}AFZ|EH| 70,000 70,000
2ngzxz 15,120
2P| 20 54,880
01 ZHIUEZZSH| 70,000 70,000
OB ZRURAAMA (L) =74 7L
70,000,0009/x14]= 70,000
2NEZR3 15,120
ALA|2 2 54,880
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